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1. In which Sanskrit work the important cities of medieval Kerala are described ?

A) mooshakavamsa    B) Pradyumnabhyudayam 

C) Sukasandesam   d) Sivavilasa

2. Who was the first editor of the journal ‘‘The Indian Sociologist’’ ?

A) Montegue   B) Shyamji Krishna Verma 

C) G.G. Agarkar   d) R.C. dutt

3. “Radical democratic Party” was founded by

A) m.N. Roy  B) A.O. Hume 

C) Gopalakrishna Gokhale d) m.G. Ranade

4. Which organization of the UNO is known as the “Town meeting of the World” ?

A) The Trusteeship Council B) The Secretariat 

C) The Security Council   d) The General Assembly

5. Who among the following historian described the Revolt of 1857 as “Wholly unpatriotic 
and selfish sepoy mutiny” ?

A) T.R. Holmes   B) Sir John Seeley 

C) lord Canning   d) James Outram

6.  Who is the current Secretary General of ASEAN ? 

A) Filippo Grandi    B) dr. Agnes Callamard 

C) Fernando Arias   d) dr. Kao Kim Hourn

7. match list – I and list – II, and select the correct answer from the options given 
below.

  List – I List – II
Discontinuity Region

a. Gutenberg 1. Crust and mantle 

b. Repiti 2. Upper and lower crust

c. mohorovicic 3. mantle and core

d. Conrad 4. Outer mantle and inner mantle 

A) a – 4, b – 3, c – 1, d – 2

B) a – 3, b – 4, c – 1, d – 2

C) a – 2, b – 4, c – 1, d – 3

d) a – 3, b – 2, c – 4, d – 1
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1. JfV yUØQf WQf]p]sLeV oi|WLs SWqt¾]Rs NkiLj jYq°¥ v]vq]ˆ]q]¨OÐfV ? 

A) oPxWvUwU  B) Nkh|OoÔLn|OhpU 

C) yOWySÎwU  d) w]vv]sLyU

2. ""h] CÍ|¢ SyLSx|Lt^]ðV '' IÐ S^¡es]R£ Bh| Ic]ã¡ BqLp]qOÐO ?

A) RoLSºYV  B) w|LU^] WQxVe v¡Ú

C) ^]. ^]. AY¡¨¡  d) B¡. y]. h¾V

3. ""rLc]¨¤ RcSoLNWLã]WV kL¡Ÿ]'' òLk]ˆfV BqLeV ?

A) IU. I¢. SrLpV   B) I. K. z|PU

C) SYLkLsWQxVe SYLXRs d) IU. ^]. rLjRc

4. ""aT¦ o}ã]UYV KLlV h] Sv¥cV '' IÐr]pRÕaOÐfV  UNO pORa JfV yUZajpLeV ?

A) Nað]x]ÕV WT¦y]¤   B) RyNWSŸr]pãV 

C) yOqƒL WT¦y]¤  d) RkLfOySÚtjU

5. fLRuÕrpOÐvq]¤ BqLeV 1857&Rs WsLkR¾ ""yÒP¡e Shwn©] v]qOÈvOU  

y~L¡ÀvOoLp w]kLp] szt'' IÐV v]Swx]Õ]ˆfV ? 

A) a]. B¡. SzLUyV    B) y¡. S^L¦ y}s]

C) WLj]UYV NknO  d) R^p]UyV KTŸVrLU

6. j]sv]Rs By]pL¢ (ASEAN) RyNWŸr] ^jr¤ BqLeV ? 

A) l]s]SÕL NYL¢c]  B) ScL. B®yV WLso¡cV

C) Rl¡eLSºL Jq]pLyV d) ScL. WLSvL W]U SzL¦ 

7. s]ðV – I&Rj s]ðV – II oLp] S\qOUka] S\¡¨OW. fLRu j¤W]p]q]¨OÐ KLkVxjOWt]¤ 
j]ÐV wq]pLp D¾qU f]qR´aO¨OW.

  s]ðV – I s]ðV – II
  j]¡¾sL¨¤ NkShwU

a. YOŸ¢m¡YV 1. kOrUSfLaV, BvqeU 

b. RrRkã] 2. oOWt]sOU fLRupOoOç kOrUSfLaV

c. RoLSzLSrLv]y]WV 3. BvqevOU WLÒOU

d. SWL¦rLcV 4. kOrR¾ BvqevOU, AWR¾ BvqevOU 

A) a – 4, b – 3, c – 1, d – 2

B) a – 3, b – 4, c – 1, d – 2

C) a – 2, b – 4, c – 1, d – 3

d) a – 3, b – 2, c – 4, d – 1
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8. Consider the following statements on sedimentary rocks :

1. They contain fossils and remnants.

2. These rocks are very soft.

3. They are made of many layers.

 Identify the correct statement(s) from the options given below. 

A) 1 and 2 are correct    B) 1 and 3 are correct

C) 2 and 3 are correct    d) All are correct

9. Which of the following pairs are correctly matched ?

1. Jog falls – Karnataka

2. Kapildhara falls – meghalaya

3. dudhsagar falls – Goa

A) 1 and 2 are correct   B) 2 and 3 are correct

C) 1 and 3 are correct   d)  All are correct

10. Which of the following separates mainland of India from Sri lanka ? 

A) Palk strait   B) mcmohan line

C) Ten degree channel   d) Radcliffe line

11. Which of the following river of Kerala is East flowing ?

A) Pambar river   B) manimala river 

C) Chaliyar river   d) Kuttiyadi river 

12. NASA’s Curiosity Rover recently captured the crepuscular rays on which planet ?

A) Venus B) Mars  C) Jupiter D) Earth

13. Which pairs are correctly matched ?

  a B

1. SIdBI – Public Sector Bank

2. munich Re – Re-insurance Companies

3. IIFCl – Financial Institutions

4. NHB – Private Sector Bank

A) Only 1 and 2   B) Only 2 and 3 

C) Only 3 and 4   d) Only 1 and 4
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8. Avw]ì kLrWRt¨Or]ˆOç fLRuÕrpOÐ NkñLvjW¥ kq]Ye]¨OW.

1. Avp]¤ SlLy]sOWtOU Avw]ì°tOU Aa°]p]q]¨OÐO.

2. CT kLrW¥ vtRq oQhOvLeV.

3. Av ks kLt]Wt]sLpLeV j]¡Ú]ˆ]q]¨OÐfV.

  fLRu j¤W]p]q]¨OÐ KLkVxjOWt]¤ j]ÐV wq]pLp NkñLvj(W¥) f]q]ˆr]pOW. 

A) 1 DU 2 DU wq]pLeV    B) 1 DU 3 DU wq]pLeV

C) 2 DU 3 DU wq]pLeV   d)  CvRpŠLU wq]pLeV

9.  fLRuÕrpOÐ S^Lc]Wt]¤ JfLeV wq]pLp] S\qOUka] S\qOÐfV ?

1.  S^LYV RvçˆLŸU –   W¡eLaW

2.  Wk]¤iq RvçˆLŸU –   SoZLsp

3.  hPhVyLY¡ RvçˆLŸU –  SYLv

A) 1 DU 2 DU wq]pLeV  B) 2 DU 3 DU wq]pLeV

C) 1 DU 3 DU wq]pLeV  d)  CvRpŠLU wq]pLeV

10. fLRuÕrpOÐvp]¤ JfLeV CÍ|pORa NkiLj nPNkShwR¾ è}sËp]¤ j]ÐV 
 Sv¡f]q]¨OÐfV ? 

A) kL¤¨V Was]aO¨V   B) oWVSoLz¢ RRs¢

C) Ra¢ c]NY] \Lj¤   d) rLcV„]lV RRs¢

11. fLRuÕrpOÐvp]¤ SWqt¾]Rs JfV jh]pLeV W]uS¨LŸV KuOWOÐfV ?

A) kÒL¡ jh]  B) oe]os jh] 

C) \Ls]pL¡ kOu   d) WOã]pLa] kOu

12.  jLypORa W|Pq]SpLy]ã] SrLv¡ AaO¾]Ra RNWkØOs¡ qwÜ]W¥ k]a]RˆaO¾fV JfV 
NYz¾]¤ j]ÐLeV ?

A) wONW¢ B) R\L‹ C) v|LuU d) nPo]

13. fLRuÕrpOÐ S^Lc]Wt]¤ JfLeV wq]pLp] S\qOUka] S\qOÐfV ?
  a B

1. SIdBI – RkLfOSoXsL mLËV
2. munich Re – r} C¢xOr¢yV WÒj]W¥
3. IIFCl – ijWLq| òLkj°¥
4. NHB – y~WLq|SoXs mLËV

A) Only 1 and 2   B) Only 2 and 3 

C) Only 3 and 4   d) Only 1 and 4
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14. Consider the following statements. Which of the statements are correct ?

1. Green Revolution technology is a package of HYV seeds-fertilizers-irrigation.

2. Agriculture price commission was set up in 1965.

3. IAAP was implemented in 1961.

4. m. S. Swaminathan is the father of Green Revolution.

A) Only 1, 2 and 3   B) Only 2, 3 and 4 

C) Only 3, 4 and 1   d)  Only 4, 1 and 2

15. In relation to Goods and Service Tax which of the following are correct ?

1. GST on Milk, Fruits and Vegetables is 5%.

2. A destination-based tax implemented on 1st July 2017.

3. Overcome cascading effect and reduction in multiplicity of indirect taxes.

4. GST council is a constitutional body.

A) Only 1, 2 and 3   B) Only 2, 3 and 4  

C) Only 3, 4 and 1   d) Only 4, 1 and 2

16. Which of the following are correctly matched ?

  a B

1. Harrod domar – First Five year Plan

2. mahalanobis model – Second Five year Plan

3. Rapid and more inclusive growth – Twelfth Five year Plan

4. d. P. dhar model – Fifth Five year Plan

A) Only 1, 2 and 3   B) Only 2, 3 and 4 

C) Only 3, 4 and 1   d) Only 4, 1 and 2

17. Which of the fact is incorrect regarding economic reforms ?

1. Indian currency was appreciated against foreign in 1991 to overcome the  
BoP crisis.

2. Before the deregulation of the Industrial sector, 17 industries were reserved under 
public sector.

3. Foreign exchange market, Stock exchange market, Banking and non-banking financial 
institutions are a part of fiscal reforms.

A) Only 1 and 2   B) Only 2 and 3 

C) Only 1 and 3   d) All 1, 2 and 3
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14. fLRuÕrpOÐ NkñLvjW¥ kq]Ye]¨OW. CT NkñLvjWt]¤ JfLeV wq] ?

1. zq]f v]†vU yLSËf]W v]h| IÐfV HYV v]¾OW¥-vtU-^sSy\jU 
 IÐ]vpORa KqO kLS¨^LeV.

2. 1965 sLeV WL¡x]W v]s WÚ}x¢ j]sv]¤ vÐfV.

3. 1961 sLeV IAAP jaÕ]sL¨]pfV.

4. zq]fv]†v¾]R£ k]fLvLeV m.S. y~Lo]jLg¢.

A) Only 1, 2 and 3   B) Only 2, 3 and 4 

C) Only 3, 4 and 1   d)  Only 4, 1 and 2

15. \q¨V Syvj j]WOf]pOoLp] mÌRÕŸV fLRuÕrpOÐvp]¤ JfLeV wq] ?

1. kL¤, ku°¥, kˆ¨r]W¥ IÐ]vpORa GST 5% BeV.

2. 2017 ^PRRs 1&jV sƒ|òLjR¾ Aa]òLjoL¨]pOç j]WOf] jaÕL¨].

3. WLyVSWc]UYV ClWVãOU kSqLƒ j]WOf]WtORa YOe]f¾]sOç WOrvOU 
 or]Wa¨OW.

4. GST WT¦y]¤ KqO nqeZajL òLkjoLeV.

A) Only 1, 2 and 3   B) Only 2, 3 and 4  

C) Only 3, 4 and 1   d) Only 4, 1 and 2

16. fLRuÕrpOÐvp]¤ JfLeV wq]pLp] S\qOUka] S\qOÐfV ?
  a B

1. zLSqLcV ScLoL¡ – Bh| kµvÃq kÈf]
2. ozsSjLm]yV SoLc¤ – qºLU kµvÃq kÈf]
3. NhOfvOU WPaOf¤ D¥R¨LçOÐfOoLp vt¡ˆ – kNÍºLU kµvÃq kÈf]
4. d. P. iL¡ SoLc¤ – AµLU kµvÃq kÈf]

A) Only 1, 2 and 3   B) Only 2, 3 and 4 

C) Only 3, 4 and 1   d) Only 4, 1 and 2

17. yLÒ¾]W kq]ëqevOoLp] mÌRÕŸV JfLeV RfãV ?

1. BoP Nkf]yÌ] or]Wa¨L¢ 1991&¤ v]Shw¾]Rjf]qLp CÍ|¢ Wr¢y] 
 v]sof]¨RÕŸO.

2. v|LvyLp]W SoXspORa j]pNÍeU IaO¾OWtpOÐf]jV oOÒV 17 v|vyLp°¥ 
RkLfOSoXsàV W}u]¤ yUvqeU R\pÅ]qOÐO.

3. SlLr]¢ IWVyVS\µV oL¡¨ãV, SðL V̈ IWVyVS\µV oL¡¨ãV, mLË]UYV, mLË]UYV Cfq 
ijWLq| òLkj°¥ IÐ]v yLÒ¾]W kq]ëqe°tORa nLYoLeV.

A) Only 1 and 2   B) Only 2 and 3 

C) Only 1 and 3   d) CvRpŠLU (1, 2 and 3)
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18. Which of the following is correctly matched ?

a B

1. World Bank – Ajay Banga

2. World meteorological Organisation – A. Almandous

3. Confederation of Indian Industries – R. dinesh

A) Only 1   B) Only 2 

C) Only 3   d) All 1, 2 and 3

19. Who among the following was not a member of the drafting Committee of 
 Indian Constitution ? 

A) B. R. Ambedkar   B) K. m. munshi

C) mohammad Sadulla   d) Jawaharlal Nehru

20. How Article dealing with Amendment of Constitution (Art. 368) can be amended ?

A) By Simple Majority   B) By Special Majority 

C) By Special Procedure  d) None of the above

21. Who can remove the member of a State Public Service Commission ?  

A) President of India

B) Governor of the State 

C) Chief minister

d) High Court Justice of the State

22.  Which among the following is not a ground to issue ‘Writ of Quo Warranto’ ?

A) The office must be Public 

B) The respondent must have asserted his claim to such office 

C) Office must have been created under Constitution or Statute 

d) Public interest does not hold ground in the case

23. How many items contained in the 11th Schedule to the Constitution of India ? 

A) 29 B) 30 C) 32 d) 34

24. Which of the following Constitutional  Amendment introduced anti defection provisions 
in the Indian Constitution ?

A) 54th B) 91st C) 86th d) 97th
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18. fLRuÕrpOÐvp]¤ JfLeV wq]pLp] S\qOUka] S\qOÐfV ?
a B

1. SsLW mLËV – A^pV mUY
2. Sv¥cV Roã}q]SpLt^]¨¤ KL¡YRRjSyx¢ – I. A¤oL¢ScLyV
3. SWL¦RlcSrx¢ KLlV CÍ|¢ C¢cNy›}yV  – B¡. h]SjwV

A) Only 1   B) Only 2 

C) Only 3   d) CvRpŠLU (1, 2 and 3)

19. fLRuÕrpOÐvq]¤ BqLeV CÍ|¢ nqeZajpORa NcLlVã]UYV WÚ]ã]p]¤ 
AUYoŠL¾fV ? 

A) B.R. AUSmhVW¡   B) K.m. oO¢x]

C) oOzÚhV yLhPs  d) ^vz¡sL¤ RjzVrO

20. nqeZajL SnhYf]pOoLp] mÌRÕŸ B¡Ÿ]¨]¥ (Art. 368) I°Rj SnhYf] 
 R\áLU ?

A) SWvs nPq]kƒ¾]¤   B) NkSf|W nPq]kƒS¾LRa

C) NkSf|W jaka]NWoU vu] d) oOWt]sOçvRpLÐOosæ

21. KqO yUòLj k‡]WV y¡v}yV WÚ}xj]Rs AUYR¾ B¡¨LeV j}¨U R\áL¢ 
 Wu]pOW ?  

A) CÍ|pORa qLNìkf]  

B) yUòLj Yv¡e¡ 

C) oOX|oNÍ]   

d) yUòLjR¾ RRzS¨Laf] ^ð]yV

22. fLRuÕrpOÐvp]¤ JfLeV SW~L vLrS£LpORa r]ŸV kOrRÕaOv]¨LjOç 
 Aa]òLjoŠL¾fV ?

A) KLl}yV RkLfOvLp]q]¨eU 

B) A¾qU KLl}y]¤ fR£ AvWLwvLhU Nkf]nLYU DrÕ]ˆ]q]¨eU 

C) nqeZajSpL \ŸSoL AjOyq]ˆLp]q]¨eU KLl}yV yQì]¨RÕŸfV 

d) SWy]¤ RkLfOfL¤Õq|U j]sj]¤¨]Š

23. CÍ|¢ nqeZajpORa 11&LU kŸ]Wp]¤ INf Cj°¥ Aa°]p]q]¨OÐO ?

A) 29 B) 30 C) 32 d) 34

24. fLRuÕrpOÐvp]¤ JfV nqeZajL SnhYf]pLeV CÍ|¢ nqeZajp]¤ WPrOoLã 
v]qOÈ v|vòW¥ RWLºOvÐfV ?

A) 54th B) 91st C) 86th d) 97th
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25. Identify the Article which provides protection against ‘double Jeopardy’.

A) Article 19   B) Article 20 

C) Article 21   d) Article 22

26. Which one of the following does not constitute the electoral college for electing the 

President of India ?

A) Elected members of lok Sabha 

B) Elected members of Rajya Sabha

C) Elected members of the legislative Assembly of each State   

d) Elected members of the legislative Council

27. In the 2022 election of Vice President of India who was the opposition candidate ?

A) Jagdeep dhankhar   B) Rahul Gandhi

C) margaret Alva   d) yashwant Sinha

28. Which among the following is true about the Kerala State disaster management 

Authority (KSdmA) ?

I. KSdmA is a statutory and autonomous body.

II. Chief minister of Kerala is the Chairman of the KSdmA.

III. The Chief Secretary is the Chief Executive Officer of the KSDMA.

IV. Additional Chief Secretary, Revenue and Disaster Management is the Head of the 

department of KSdmA.

A) I, II, III, IV B) I, II, III C) II, III, IV D) I, II, IV

29. What is true about the Fourth round of Health Index launched by NITI Aayog in 2021 ? 

I. Kerala emerged as the top-ranking State in terms of overall health performance.

II. Tamil Nadu and Telangana are the second and third best performers on health 

parameters.

III. 2019 – 20 was the reference period for the health index.

IV. The report has been prepared with the technical assistance from the WHO.

A) I, III B) I, III, IV  C) I, II, III D) I, II, IV
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25. CqŸ AkWa¾]Rjf]Rq kq]qƒ j¤WOÐ B¡Ÿ]¨]¥ f]q]ˆr]pOW.

A) B¡Ÿ]¨]¥ 19  B) B¡Ÿ]¨]¥ 20 

C) B¡Ÿ]¨]¥ 21  d) B¡Ÿ]¨]¥ 22

26. fLRuÕrpOÐvp]¤ JfLeV CÍ|pORa qLNìkf]Rp f]qR´aO¨OÐf]jOç CsNûr¤ 

SWLSt^V qPk}Wq]¨L¾fV ?

A) SsLWVynp]Ss¨V f]qR´aO¨RÕŸ AUY°¥ 

B) qL^|ynp]Ss¨V f]qR´aO¨RÕŸ AUY°¥

C) KLSqL yUòLjR¾pOU j]poynp]Ss¨V f]qR´aO¨RÕŸ AUY°¥  

d) Rs^]Sþã}vV WT¦y]¤ f]qR´aO¨RÕŸ AUY°¥

27. 2022&Rs CÍ|¢ DkqLNìkf] RfqR´aOÕ]¤ Nkf]kƒ òLjL¡À] BqLp]qOÐO ?

A) ^YVh}kV i¢X¡  B) qLzO¤ YLÌ]

C) oL¡YqãV B¤v  d) pw~ÍV y]¢z

28. SWqt SðãV c]yLð¡ oLSj V̂Ro£V ASfLr]ã] (KSdmA) yUmÌ] V̂ fLRuÕrpOÐvp]¤ 

JfLeV wq] ? 

I. KSdmA KqO j]poLjOyQfvOU y~pUnqeLi]WLqoOçfOoLp òLkjoLeV.

II. SWqt oOX|oNÍ]pLeV KSdmA pORa R\p¡oL¢.

III. KSdmA pORa \}lV IWõ]W|PŸ}vV KLl}yrLeV \}lV RyNWŸr].

IV. rvj|P, hOqÍ j]vLqe Ac}xe¤ \}lV RyNWŸr]pLeV KSdmA pORa vWOÕV   

SoiLv].

A) I, II, III, IV B) I, II, III C) II, III, IV D) I, II, IV

29. 2021&¤ NITI BSpLYV BqUn]ˆ BSqLY| yP\]WpORa jLsLU rTº]¤ JfLeV wq] ?

I. RoL¾¾]sOç BSqLY| NkWaj¾]R£ WLq|¾]¤ SWqtU KÐLU òLjR¾¾].

II. fo]uVjLaOU RfsËLjpOoLeV BSqLY| oLjh¼°t]¤ qºOU oPÐOU òLj°t]¤.

III. 2019-20 Bp]qOÐO BSqLY| yP\]WpORa rlr¢yV WLsptvV.

IV. SsLWLSqLY| yUZajpORa yLSËf]W yzLpS¾LRapLeV r]SÕL¡ŸV  

fáLrL¨]p]q]¨OÐfV.

A) I, III B) I, III, IV  C) I, II, III D) I, II, IV
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30. Which stipulates efficient and time bound delivery of services and redress of 

grievances by the government, came into being in the year 

A) 2010 B) 2012 C) 2014 d) 2016

31. During the rule of Karthika Thirunal Rama Varma (1758 – 1798) the Chief Executive 

Officer of Travancore was known as

A) Dalwa   B) Valiya Kariakkar 

C) Valiya Sarvadhikari   D) Dewan

32. Rescue mission Project envisaged by Kerala State Council for Child Welfare since 

2017 to extend assistance to the children in trouble and rehabilitate them properly

A) Thanal   B) Ammathottil 

C) Swanthanam   d) Kaliveedu

33. The place identified for the establishment of Digital Service Park under Kerala Digital 

University

A) Kakkanad   B) Thonnakkal 

C) Chavara   d) Aluva

34. Name a major pollutant that present in the automobile exhausts which reduces 

oxygen carrying capacity of blood in human being 

A) Arsines   B) Ammonia

C) Carbon monoxide   d) Nitrogen oxide

35. ‘Bioluminescence is a unique property of certain organisms having the ability to emit 

light’. Name an organism having the ability of bioluminescence.

A) Plasmodium   B) Ctenoplana 

C) Wuchereria   d) Hirudinaria 

36. Stop codons are very essential for ending translation of mRNA. Pick out a stop codon 

from the following.

A) AUG B) UAG C) UCG d) UUG
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30. Syvj°tORa WLq|ƒovOU yopmÌ]fvOoLp Rcs]vr], Yv¦Ro£]R£ kqLf]

W¥ kq]zq]¨¤ IÐ]v v|vò R\áOÐO. j]poU j]sv]¤ vÐfV 

A) 2010 B) 2012 C) 2014 d) 2016

31. WL¡¾]W f]qOjL¥ qLov¡ÚpORa (1758-1798) nqeWLs¾V f]qOv]fLUWPr]R£ 

 \}lV IWõ]W|PŸ}vV KLl}y¡ Ar]pRÕŸ]qOÐfV _______ IÐLeV.

A) h¤v   B) vs]p WLq|¨L¡ 

C) vs]p y¡vLi]WLq]   d) h]vL¢

32. SWqt yUòLjU v]nLvjU R\pÅ JfV RryVW|P o]x¢ kÈf]pLeV 2017 oOf¤ WOŸ]

WtORa Sƒo WT¦y]¤ NkwÔmLi]fqLp WOŸ]W¥¨V yzLpU j¤WLjOU AvRq 

kOjqi]vy]Õ]¨LjOU fOa°]pfV ? 

A) fe¤   B) AÚRfLŸ]¤ 

C) yLÍ~jU  d) Wt]v}aV

33. SWqt c]^]ã¤ y¡‹WsLwLspORa W}u]¤ c]^]ã¤ y¡‹}yV kL¡¨V òLk]¨OÐf]

jLp] WRº¾]p òsU JfLeV ?

A) WL¨jLaV   B) SfLÐ¨¤ 

C) \vr  d) BsOv

34. ojOx|q]¤ q©¾]¤ KLWõ]^¢ vz]¨LjOç Swx] WOràOÐ vLzj IWõVSzLðOWt]¤ 

Aa°]p]q]¨OÐ KqO NkiLj os]j}Wqe¾]R£ SkqV krpOW.

A) Buõ]¢yV  B) ASoLe]p

C) WL¡m¦ SoLSeLWVRRycV d) RRjNa^¢ KLWVRRycV

35. NkWLwU kOrRÕaOv]¨LjOç Wu]vOç \]s ̂ }v^Ls°tORa yv]SwxoLp y~¾LeV 

mSpLsOo]RjRy¢yV. mSpLsOo]RjRy¢yV Wu]vOç KqO KL¡YLj]y¾]R£ SkqV 

j¤WOW.

A) kæLyVSoLc]pU  B) RðSjLkæLj

C) vOR\Srq]p  d) z]qOh]jq]p

36. mRNApORa v]v¡¾jU AvyLj]Õ]¨OÐf]jV SðLÕV SWLScL¦ vtRq  

Af|Lvw|oLeV. fLRuÕrpOÐf]¤ j]ÐV KqO SðLÕV SWLScL¦ f]qR´aO¨OW.

A) AUG B) UAG C) UCG d) UUG
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37. ECG is used for understanding the normal working of human heart. An ECG 

consist of mainly three waves namely P wave, QRS complex and T wave in which  

QRS complex represents 

A) Ventricular depolarisation B) Atrial depolarisation 

C) Ventricular repolarisation D) Atrial repolarisation

38. A pathogen named plasmodium is transmitting the disease malaria in human being. 

Write the catagory to which this organism belongs.

A) Bacteria     B) Fungus 

C) Roundworm   d) Protozoa

39. Small quantities of mercury placed on a clean glass plate assume spherical shapes. 

The reason behind this is

A) Viscous force   B) Surface tension 

C) Buoyant force   d) Capillarity

40. Arrange microwaves, ultraviolet rays, radio waves and infrared rays in the ascending 

order of their energy.

A) microwaves < ultraviolet rays < radio waves < infrared rays

B) infrared rays < ultraviolet rays < radio waves < microwaves

C) radio waves < microwaves < infrared rays < ultraviolet rays   

d) radio waves < ultraviolet rays < microwaves < infrared rays

41. When a body is moved from the equator to the south pole, its weight

A) Increases   B) decreases

C) Remains the same   d) Becomes zero

42. A cricket ball is thrown up making an angle 45° with the horizontal. The angle between 

velocity and acceleration, when the ball is at maximum height, is

A) 0° B) 120° C) 180° d) 90°

43. Which gas is produced when metals react with steam ?

A) Oxygen   B) Hydrogen 

C) Carbon dioxide   d) Nitrogen
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37. ojOx|R£ zQhp¾]R£ yLiLqe Nkv¡¾jU ojô]sL¨L¢ ECG DkSpLY]¨OÐO. 
KqO ECG fqUY°¥ NkiLjoLpOU oPÐV fqUY°¥ D¥R¨LçOÐO, AfLpfV 

  P SvvV, QRS SWLUkæWõV , T SvvV, Af]¤ QRS SWLUkæWõV ______ Rj Nkf]j]i} 
Wq]¨OÐO.

A) Rv¢Na]¨OsL¡ c]SkLtRRrSyx¢ B) JNa]p¤ c]SkLtRRrSyx¢

C) Rv¢Na]¨OsL¡ r}SkLtRRrSyx¢ d) JNa]p¤ r}SkLtRRrSyx¢

38. kæLyVSoLc]pU IÐ SqLYLeOvLeV ojOx|q]¤ oSsr]p SqLYU kq¾OÐfV. CT ^}v] 
JfV v]nLY¾]¤ RkaOÐO IÐV IuOfOW.

A) mLW›}q]p  B) lUYyV

C) vQ¾LWQf]p]sOç kOuO d) SNkLSŸLSyLv

39. vQ¾]pOç KqO YæLyV Skæã]¤ òLk]\ÿ]q]¨OÐ R\r]p Atv]sOç Ro¡¨Or] SYLtLWQf] 
y~}Wq]¨OÐO. Cf]jO k]Ð]Rs WLqeU ________ BeV.

A) v]SØLyV SlLuVyV  B) NkfsmsU

C) mp£V SlLuVyV  d) WLÕ]sLq]ã]

40. RRoSNWLSvvV, A¥NaLvpsãV qwÜ]W¥, Src]SpL fqUY°¥, C¢NlLRrcV qwÜ]W¥ IÐ]v 
AvpORa DT¡²¾]R£ BSqLze NWo¾]¤ NWo}Wq]¨OW.  

A) RRoSNWLSvvV < A¥NaLvpsãV qwÜ]W¥ < Src]SpL fqUY°¥ < C¢NlLRrcV qwÜ]W¥

B) C¢NlLRrcV qwÜ]W¥ < A¥NaLvpsãV qwÜ]W¥ < Src]SpL fqUY°¥ < RRoSNWLSvvV 

C) Src]SpL fqUY°¥ < RRoSNWLSvvV < C¢NlLRrcV qwÜ]W¥ < A¥NaLvpsãV qwÜ]W¥

d) Src]SpL fqUY°¥ < A¥NaLvpsãV qwÜ]W¥ < RRoSNWLSvvV < C¢NlLRrcV qwÜ]W¥

41. KqO wq}qU nPoi|SqXp]¤ j]ÐV hƒ]eNiOv¾]Ss¨V oLãOSÒL¥, Af]R£ nLqU

A) v¡È]¨OÐO  B) WOrpOÐO

C) ASfka] j]sj]¤¨OÐO d) kP^|oLp] oLrOÐO

42. NW]¨ãV SmL¥ 45° SWLe]¤ f]qé}joLp] oOWt]Ss V̈ Ir]´L¤, Af]R£ kqoLvi] 
Dpq¾]¤, NkSvYvOU f~qevOU fÚ]sOç SWLetvV INf ?

A) 0° B) 120° C) 180° d) 90°

43. SsLz°¥ j}qLv]pOoLp] Nkf]Nkv¡¾]¨OSÒL¥ DºLWOÐ vLfWU.

A) KLWõ]^¢  B) RRzNc^¢

C) WL¡m¦ RRc KLWVRRycV d) RRjNa^¢
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44. What are the naturally occurring isotopes of carbon ?

A) 12C and 14C  B) 13C and 14C 

C) 11C and 12C  d) 12C and 13C

45. The hypothetical temperature at which gases are supposed to occupy zero volume 
is called absolute zero. This is according to which of the following gas law ?

A) Charles’ law   B) Gay Lussac’s law

C) Boyle’s law   D) Avogadro law

46.  Give the conjugate acid-base pair of HSO4
−

.

A) H2SO4 and SO4
−

   B) H2SO3 and SO4
2– 

C) H2SO4 and SO4
2–  d) HSO4 and SO4

–

47. Which of the following is not matched correctly ?

A) Uttaraswayamvaram – Irayimman Thampi 

B) Kalyanasaugandhikam – Kottayam Thampuran 

C) Seethaswayamvaram – Kottarakkara Thampuran 

d) dakshayagam –  Unnayi Warrier

48. Which of the following are true about mohiniyattam ?

i. mohiniyattam follows the style of lasya.

ii. Reference of mohiniyattam can be found in the text Vyavaharamala.

iii. Chollukettu in Mohiniyattam is structured by Vadivelu.

iv. Kanak Rele is a key person in the revival and popularisation of mohiniyattam.

A) Only i and ii    B) Only ii and iii 

C) Only i, ii and iv   d) All the above

49. Which of the following is matched correctly ? 

A) mayookha Johny – Badminton 

B) Jimmy George – Volleyball 

C) Raja Venkataraman – Basketball 

d) dinesh Nayak –  Kabaddi

50. Which of the following film is not directed by Satyajith Ray ? 

A) Jalasagar   B) Charulata 

C) Ek din Pratidin   d) Nayak
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44. WL¡me]R£ y~LnLv]W RISyLSaLÕOW¥ JRfLR¨pLeV ?

A) 12C and 14C  B) 13C and 14C 

C) 11C and 12C  d) 12C and 13C

45. vLfW°¥ kP^|U SvLt|U D¥R¨LçOÐ yLË¤Õ]W fLkj]sRp SWvs kP^|U IÐV 
v]t]¨OÐO. CfV fLRu krpOÐvp]¤ JfV vLfW j]poU AjOyq]\ÿLeV ?

A) \L¥y]R£ j]poU  B) SY sOyL¨]R£ j]poU

C) SmLp]s]R£ j]poU   d) ASvLYLSNcL j]poU

46. HSO4
−

R£ yUSpL^]f By]cV&SmyV S^Lc] j¤WOW. 

A) H2SO4 and SO4
−

  B) H2SO3 and SO4
2– 

C) H2SO4 and SO4
2–  d) HSO4 and SO4

–

47. fLRuÕrpOÐvp]¤ JfLeV wq]pLp] S\qOUka] S\qL¾fV ?

A) D¾qLy~pUvqU    –   Cqp]Ú¢ fÒ] 

B) Ws|LeyTYÌ]WU   –   SWLŸpU fÒOqL¢

C) y}fLy~pUvqU   –   RWLŸLq¨q fÒOqL¢ 

d) hƒpLYU   –   D¹Lp] vLq]p¡

48. SoLz]j]pLŸR¾¨Or]\ÿV fLRuÕrpOÐvp]¤ JfLeV wq] ?

i. SoLz]j]pLŸU sLy|pORa RRws]pLeV k]¢fOaqOÐfV. 

ii. SoLz]j]pLŸR¾¨Or]\ÿOç kqLo¡wU v|LvzLqoLs IÐ NYÏ¾]¤ WLeLU.

iii. va]SvsOvLeV SoLz]j]pLŸ¾]Rs R\LsæORWŸ]R£ Zaj \]ŸRÕaO¾]pfV. 

iv. SoLz]j]pLŸ¾]R£ kOjqO²}vj¾]sOU ̂ jW}pv¤¨qe¾]sOU KqO NkiLj v|©]
pLeV WjWV RrRs.

A) Only i and ii   B) Only ii and iii 

C) Only i, ii and iv  d) oOWt]sOçvRpsæLU 

49. fLRuÕrpOÐvp]¤ JfLeV wq]pLp] S\qOUka] S\qOÐfV ?

A) opPX S^Le]     –    mLcVo]£¦ 

B) ^]Ú] S^L¡²V    –    SvLt]SmL¥

C) qL^ RvË]ŸqLo¢    –    mLyV¨ãVSmL¥ 

d) h]SjwV jLpWV    –    Wmc]

50. fLRuÕrpOÐvp]¤ yf|^]¾V Sr yUv]iLjU R\áL¾ y]j]o JfLeV ?

A) ^syLY¡  B) \LqOsf

C) JWV h]¢ Nkf]h]¢  d) jLpWV
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51. If 60% of x – y equals 40% of x + y, then what percentage of x is y ? 

A) 25% B) 20% C) 60% D) 45%

52. A man bought a cycle for Rs. 2,000, spends Rs. 250 for repairing and sells it at  
10% loss. The selling price of the cycle (in Rs.) is

A) 2,025 B) 2,250 C) 2,000 d) 1,800

53. If 7n – 7n–1 = 2058, then what is the value of n ?

A) 2 B) 4 C) 6 d) 8 

54. The 25th term of the sequence 4, 9, 8, 18, 12, 27, 16, 36, ... is 

A) 108 B) 112 C) 52 d) 76

55. A girl is riding her car at a speed of 25 m/s for 6 hrs. The distance (in Km) travelled 
by her is 

A) 540 B) 640 C) 740 d) 840

56.  Find the one which does not belong to the group.

A) Cube   B) Cuboid

C) Rectangular Pyramid   d) Rectangular Prism

57. Abi is facing East. He turns 45° in the clockwise direction and then another 180° in 
the anticlockwise direction then 90° in the clockwise direction. Which direction is he 
facing now ?

A) South-East   B) North-West 

C) South-West   d) North-East

58. The next term in the series 5, 19, 80, ... is 

A) 440 B) 404 C) 201 d) 320

59. In a certain coding system, the word PERmUTATIONS is written as RGPKWVYRKQLQ. 
Then in the same coding system COmBINATIONS is written as

A) dQlzJPySKQlQ  B) EQKzKPyRKQlQ 

C) EQKzPKRyQKlQ  d) dRzPRyzKEQlQ

60. If 1st February 2022 was Tuesday, then what was the day of the week on  
14th November 2022 ?

A) monday  B) Tuesday 

C) Wednesday  d) Thursday



 097/23 – M

a -19- 

51. x – y pORa 60% x + y pORa 40% BReË]¤ x R£ INf wfoLjU BeV y ?  

A) 25% B) 20% C) 60% D) 45%

52. KqL¥ 2,000 qPk¨V KqO RRy¨]¥ vL°]. AãWOãÕe]W¥¨Lp] 250 qPk R\svu] 
¨OWpOU 10% jì¾]¤ v]¤¨OWpOU R\áOÐO. RRy¨]t]R£ v]¤Õj v]s (qPkp]¤)
INfpLeV ?

A) 2,025 B) 2,250 C) 2,000 d) 1,800

53. 7n – 7n–1 = 2058 BpL¤ n R£ oPs|U IÍLeV ?

A) 2 B) 4 C) 6 d) 8 

54. 4, 9, 8, 18, 12, 27, 16, 36, ... IÐ NWo¾]R£ 25&LU khU JfLeV ?  

A) 108 B) 112 C) 52 d) 76

55. KqO Rk¦WOŸ] 25 o}ã¡/Ry¨¢cV SvYfp]¤ 6 oe]¨P¡ fR£ WL¡ KLa]¨OÐO. Av¥ 
yµq]\ÿ hPqU (W]SsLo}ãr]¤) INfpLeV ? 

A) 540 B) 640 C) 740 d) 840

56.  NYPÕ]¤ RkaL¾fV WRº¾OW.

A) W|PmV  B) W|PSmLp]cV

C) \fOqLWQf]p]sOç k]qo]cV d) \fOqLWQf]p]sOç Nk]yU

57. An] W]uS¨LŸV An]oOXoLeV. Av¢ Za]WLqh]wp]¤ 45° pOU k]Ð}aV If]¡ Za]WLq
h]wp]¤ oRãLqO 180° pOU k]RÐ Za]WLqh]wp]¤ 90° pOU f]q]pOÐO. Av¢ CSÕL¥ 
JfV h]wp]sLeV An]oOX}Wq]¨OÐfV ?

A) Rf¨V&W]u¨V   B) va¨V&ka]´LrV 

C) Rf¨V&ka]´LrV  d) va¨V&W]u¨V

58. 5, 19, 80, ... IÐ kqÒqp]Rs AaO¾ khU JfV ? 

A) 440 B) 404 C) 201 d) 320

59. KqO NkSf|W SWLc]UYV y]ð¾]¤, PERmUTATIONS IÐ vL V̈ RGPKWVYRKQLQ 
IÐLeV IuOf]p]q]¨OÐfV.  ASÕL¥ ASf SWLc]UYV y]ð¾]¤ COmBINATIONS 
IÐV I°RjpLeV IuOfOW ? 

A) dQlzJPySKQlQ  B) EQKzKPyRKQlQ 

C) EQKzPKRyQKlQ  d) dRzPRyzKEQlQ

60. 2022 RlNmOvq] 1 R\LvÿLuV\pLReË]¤, 2022 jvUm¡ 14 BuV\p]Rs JfV  
h]vyoLeV ?  

A) f]Ë¥  B) R\Lvÿ 

C) mOi¢  d) v|LuU
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61. The proceedings under Code of Criminal Procedure for the collection of evidence 

conducted by a Police Officer or by any person who is authorised by a Magistrate 

is called

A) Inquiry   B) Investigation 

C) Judicial Proceeding   d) Both A) and C) 

62. Warrant-case means a case relating to an offence punishable with

A) death   

B) imprisonment for life

C) imprisonment for a term exceeding two years

d) all the above

63. The Executive magistrate can require a person to show cause why he should not 

be ordered to execute a bond with sureties for his good behaviour if he habitually 

commits any offence under

A) The drugs and Cosmetics Act, 1940 

B) The Employees Provident Fund [and Family Pension Fund] Act, 1952

C) The Essential Commodities Act, 1955

d) All the above

64. When a person commits sexual assault under the Protection of Children from Sexual 

Offences Act, 2012, he shall be punished

A) With imprisonment of either description for a term which shall not be less than 

three years but which may extend to five years, and shall also be liable to fine

B) With imprisonment of either description for a term which shall not be less than  

two years but which may extend to five years, and shall also be liable to fine of  

Rs. 10,000

C) With imprisonment of either description for a term which shall not be less than one 

year but which may extend to five years, and shall also be liable to fine of  

Rs. 5,000

D) With imprisonment for a term two years and shall also be liable to fine
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61. KqO SkLs}yV DSh|LYò¢ ARsæË]¤ KqO o^]SNy›ãV Ai]WLqRÕaO¾]p JRfË]sOU 

v|©] ja¾OÐ Rft]vOW¥ SwXq]¨OÐf]jOç NW]o]j¤ jaka] NWoU NkWLqoOçvRp 

_________ IÐV krpOÐO.

A) ASj~xeU   B) C¢Rvð]SYx¢ 

C) ^Oc}x|¤ jaka]  d) A) pOU C) pOU 

62. vLrºV&SWyV IÐL¤ KqO WOãWQf|vOoLp] mÌRÕŸ _________ w]ƒL¡zoLp 

SWyV IÐLeV A¡ÀoL¨OÐfV.

A) oqeS¾LRa  

B) ^}vkq|ÍU favV

C) qºV v¡x¾]¤ WPaOf¤ favV 

d) oOWt]sOçvRpŠLU

63. IWõ]W|PŸ}vV o^]SNy›ã]jV KqO v|©]SpLaV ApL¥ kf]vLp] IRÍË]sOU WOãWQf|U  

R\pÅL¤ AvR£ jsæ RkqOoLã¾]jV ^Lo|¨LqOoLp] KqO SmLºV jaÕ]sL¨L¢ D¾q

v]aL¢ kLa]Š. CfV fLRu krpOÐ JfV j]po¾]R£ W}u]sLeV D¥RÕaOÐfV ?

A) NcYVyV B¢cV SWLyVRoã]WõV j]poU,1940 

B) IUSkæLp}yV RNkLv]c£V lºV [B¢cV lLo]s] Rk¢x¢ lºV ] j]poU, 1952

C) Avw|yLij j]poU, 1955

d) oOWt]sOçvRpŠLU

64. 2012-Rs RRsUY]W WOãWQf|°t]¤ j]ÐOç WOŸ]WtORa yUqƒe j]poU AjOyq]\ÿV  

KqL¥ RRsUY]WLf]NWoU ja¾OSÒL¥, ApL¥ fLRuÕrpOÐ v]iU w]ƒ]¨RÕaOU.

A) oPÐV v¡x¾]¤ WOrpL¾fOU IÐL¤ AµV v¡xU vRq j}ŸLvOÐfOoLp KqO 

WLsptv]Rs KÐOW]¤ v]vqe¾]R£ favO w]ƒpOU k]upOU.

B) qºV v¡x¾]¤ WOrpL¾fOU IÐL¤ AµV v¡xU vRq j}Ÿ]Sp¨LvOÐfOoLp 

KqO WLsptv]Rs KÐOW]¤ v]vqe¾]R£ favOw]ƒpOU WPaLRf 10,000 qPk  

k]upOU w]ƒ]¨RÕaOU.  

C) KqO v¡x¾]¤ WOrpL¾fOU IÐL¤ AµV v¡xU vRq j}Ÿ]Sp¨LvOÐfOoLp 

KqO WLsptv]Rs KÐOW]¤ v]vqe¾]R£ favOw]ƒRàLÕU, WPaLRf 5,000 qPk  

k]upOU \Oo¾RÕaOU. 

d) qºV v¡xU favOU k]upOU sn]¨LvOÐ WOãoLeV.
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65. Which of the following is incorrect with respect to recording of statement of a child 
under Protection of Children from Sexual Offences Act, 2012 ?

A) The statement of the child shall be recorded at the residence of the child

B) The statement of the child as far as practicable be recorded by a woman police officer 
not below the rank of sub-inspector

C) The police officer while recording the statement of the child shall be in uniform 

D) The police officer shall ensure that the identity of the child is protected from the public 
media

66. Punishment for identity theft is

A) Section 66 C of Information Technology Act, 2000 

B) Section 378 of Indian Penal Code

C) Section 66 B of Information Technology Act, 2000

d) None of the above

67. An offence with three years imprisonment under Information Technology Act, 2000 
shall be

A) Cognizable   B) Bailable 

C) Both A) and B) are correct d) None of the above

68. Which provision of Right to Information Act deals with disclosure of third party 
information ?

A) Section 7 B) Section 10 C) Section 11 d) Section 12

69. Which of the following statement is correct with respect to Section 31A of Narcotic 
drugs and Psychotropic Substances Act, 1985 ?

A) death penalty can be imposed for subsequent conviction in respect of commission 
of an offence relating to production, manufacture of narcotic drugs or psychotropic 
substances for specified quantities of certain narcotic drugs or psychotropic 
substances

B) death penalty can be imposed for subsequent conviction in respect of attempt 
to commit or abetment of, or criminal conspiracy to commit an offence relating 
to possession, transportation, import into India of narcotic drugs or psychotropic 
substances for specified quantities of certain narcotic drugs or psychotropic 
substances 

C) Both A) and B) are correct

d) None of the above
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65. 2012&Rs WOŸ]WtORa RRsUY]W WOãWQf|°t]¤ j]ÐOç yUqƒe j]poU AjOyq]\ÿV 
KqO WOŸ]pORa RoLu] SqXRÕaO¾OÐfOoLp] mÌRÕŸV fLRuÕrpOÐvp]¤ JfLeV 
RfãV ?

A) WOŸ]pORa RoLu] WOŸ]pORa vyf]p]¤ SqXRÕaO¾OU.

B) WOŸ]pORa RoLu] NkSpLY]WoLp] SqXRÕaOS¾ºfV ymVC¢Ry×W›¡ rLË]¤ 
WOrpL¾ vj]fL SkLs}yV KLl}yrLeV.

C) WOŸ]pORa RoLu] SqXRÕaO¾OSÒL¥ SkLs}yV DSh|LYò¢ pPe]SlLo]sLp]
q]¨eU.

d) WOŸ]pORa RIc£ã] RkLfO oLi|o°t]¤ j]ÐV yUqƒ]¨RÕaOÐORºÐV  
SkLs}yV DSh|LYò¢ DrÕL¨eU.

66. RIc£]ã] SoLxe¾]jOç w]ƒ _________ BeV.

A) C¢l¡Sox¢ RaWVSjLt^] BW›V 2000-R£ Ryƒ¢ 66 C 

B) CÍ|¢ w]ƒL j]po¾]Rs Ryƒ¢ 378 

C) 2000-Rs C¢l¡Sox¢ RaWVSjLt^] j]po¾]R£ Ryƒ¢ 66 B

d) oOWt]sOçvRpLÐOosæ

67. C¢l¡Sox¢ RaWVSjLt^] BW›V 2000 NkWLqU oPÐV v¡xU favV sn]¨LvOÐ 
WOãoLeV 

A) SWLYVj]Rym]¥  B) ^Lo|U sn]¨LvOÐfV 

C) A) DU B) DU wq]pLeV  d) oOWt]sOçvRpLÐOosæ

68. v]vqLvWLw j]po¾]Rs JfO v|vòpLeV oPÐLU Wƒ]pORa Rvt]RÕaO¾sOoLp] 
mÌRÕŸ]ŸOçfV ?

A) Ryƒ¢ 7 B) Ryƒ¢ 10 C) Ryƒ¢ 11 d) Ryƒ¢ 12

69. 1985&Rs jL¡S¨LŸ]WV NcYVyV B¢cV RRyS¨LSNaLk]WV ymVð¢yyV BW›]R£ 
 Ryƒ¢ 31A pOoLp] mÌRÕŸV fLRuÕrpOÐ NkñLvjWt]¤ JfLeV wq] ? 

A) j]¡Ç]ì Atv]sOç \]s op¨OoqOÐV ARsæË]¤ RRyS¨LSNaLk]WV khL¡À°tORa 
RRyS¨LSNaLk]WV vñO¨tORa D¤ÕLhjU, j]¡ÚLeU, op¨OoqOÐV IÐ]
vpOoLp] mÌRÕŸ WOãWQf|°tORa WÚ}x¢ yUmÌ]\ÿ fOa¡ÐOç w]ƒàV 
viw]ƒ j¤WLvOÐfLeV 

B) j]é]f Atv]sOç \]s op¨OoqOÐV op¨OoqOÐOW¥¨Lp] RRyS¨LSNaLk]WV 
szq]vñO¨¥ RRWvwU và¤, RWLºOSkLW¤, CÍ|p]Ss¨V Cr¨Oof] R\á¤ 
IÐ]vpOoLp] mÌRÕŸ KqO WOãWQf|U, R\áLjOç èoU, ARsæË]¤ SNkqe, 
ARsæË]¤ NW]o]j¤ YPdLSsL\j IÐ]vp]¤ fOa¡ÐOç w]ƒàV  viw]ƒ j¤WL 
vOÐfLeV 

C) A) DU B) DU wq]pLeV

d) oOWt]sOçvRpLÐOosæ
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70. Punishment for consumption of any narcotic drug or psychotropic substance

A) Imprisonment for 3 months and fine of one lakh rupees

B) With rigorous imprisonment for a term which may extend to two years, or with fine 
which may extend to twenty thousand rupees; or with both

C) With rigorous imprisonment for a term which may extend to one year, or with fine 
which may extend to twenty thousand rupees; or with both

D) With rigorous imprisonment for a term which may extend to 6 months, or with fine 
which may extend to ten thousand rupees; or with both

71. The original architects of social disorganization theory that explains the link between 
neighbourhoods and crime are

A) Shaw and mcKay   

B) lombroso, Ferri, Raffaeleo and Garofalo   

C) Jeremy Bentham and Cesare Baccaria 

d) None of the above

72. According to ________ theory, repentance by the offender itself is a punishment.

A) deterrent   B) Expiatory 

C) Retributive   d) Preventive

73. In which of the following offences under the Indian Penal Code, 1860, ‘preparation’ 
is punishable ?

A) dacoity   B) murder

C) Hurt   d) Assault

74. Any hurt which causes the sufferer to be during the span of _______ days in severe 
bodily pain, or unable to follow his ordinary pursuits, is designated as ‘‘grievous hurt’’ 
under the Indian Penal Code, 1860.

A) Seven   B) Fourteen 

C) Twenty   d) None of the above

75. Which among the following constitutes the offence of public nuisance under  
Section 268 of the Indian Penal Code, 1860 ?

A) Air pollution   B) Rash driving 

C) Unlawful assembly   d) None of the above
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70. JRfË]sOU op¨OoqOÐV ARsæË]¤ RRyS¨LSNaLk]WV khL¡ÀU Wu]¨OÐf]jOç  
w]ƒ ?

A) 3 oLyU favOU KqO sƒU qPk k]upOU.

B) qºV v¡xU vRq j}ºO j]¤¨OÐ Wb]j favOU ARsæË]¤ CqOkf]jLp]qU qPk  
vRq k]upOU ARsæË]¤ qºOU WPRa

C) KqO v¡xU vRq j}Ÿ]Sp¨LvOÐ Wb]joLp faSvL CqOkf]jLp]qU qPk vRq  
k]uSpL ARsæË]¤ qºOU WPRa

d) 6 oLyU vRq j}Ÿ]Sp¨LvOÐ Wb]j faSvL kf]jLp]qU qPk vRq k]uSpL ARsæË]¤ 
qºOU WPRa

71. Ap¤k¨°tOU WOãWQf|°tOU fÚ]sOç mÌU v}wh}Wq]¨OÐ yLoPz]W AyUZa]f 
y]ÈLÍ¾]R£ pgL¡À B¡¨]RaWVãOW¥ 

A) xLpOU oS¨pOU    

B) SsLUSNmLSyL, Rlr], rLSls]SpL, YLSqLlLSsL   

C) R^ro] RmÍLoOU y]yLRq Rm¨Lr]ppOU 

d) CvqLqOoŠ

72. ________ y]ÈLÍojOyq]\ÿV, WOãvLt]pORa kéL¾LkU fRÐ KqO w]ƒpLeV.

A) RcRãr£V   B) IWõVÕ]Spãr] 

C) RrNa]mPã}vV  d) Nk]Rv¢ã}vV

73. 1860&Rs CÍ|¢ k}j¤ SWLcV NkWLqU fLRuÕrpOÐ JfV WOãWQf|°t]sLeV 
"fáLRraOÕV ' w]ƒL¡zoLpfV ? 

A) RcS¨Lp]ã]  B) RWLskLfWU 

C) Svhj]Õ]¨OW   d) WSáãU ja¾OW

74. _______ h]vy°StLtU Wb]joLp wLq}q]W Svhjp]¤ Bp]q]¨OÐSfL AvqORa 
yLiLqe WLq|°¥ k]ÍOaqL¢ Wu]pLRf vqOÐSfL Bp JRfLqO oOr]vOU CÍ|¢ 
w]ƒLj]poU 1860 NkWLqU ""YOqOfqoLp oOr]vV ''IÐV j]pO©oL¨]p]q]¨OÐO. 

A) 7   B) 14 

C) 20   d) oOWt]sOçvRpLÐOosæ

75. 1860&Rs CÍ|¢ w]ƒL j]po¾]Rs 268&LU vWOÕV NkWLqU RkLfO ws|U IÐ 
WOãU fLRuÕrpOÐvp]¤ JfLeV ?  

A) vLpO os]j}WqeU   B) rLxV RRNcv]UYV 

C) j]pov]qOÈoLp ySÚtjU d) oOWt]sOçvRpLÐOosæ
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76. Watching or capturing the image of a woman engaging in a private act in circumstances 
where she would usually have the expectation of not being observed by any other 
person, amounts to the offence of

A) Stalking   B) Phishing 

C) Voyeurism   D) Sexual harassment

77. Under the provisions of the Kerala Police Act, 2011, the Police may make and keep 
________ of any activity performed by them during the discharge of their duties and 
such records may be used in any proceedings in which the correctness of Police 
action is called in question. 

A) Audio   B) Video 

C) Electronic records   d) None of the above

78. Which of the following circumstance necessitates immediate police action to locate 
a missing person ?

A) The person is in danger; or not under the protection of lawful guardianship

B) The person may be subjected to some dangerous offence

C) The person is absconding to prevent the implementation of a right declared by 
court 

d) All of the above 

79. Who is empowered under the Kerala Police Act, 2011 to constitute Community 
Contact Committees for each police station comprising the local residents of the 
area as representatives of the community, to give general assistance to the Police 
in the discharge of their duty ?

A) Station House Officer   B) District Police Chief

C) State Police Chief   d) district magistrate

80. Which of the following statutes prescribe punishment for performing any sexual 
gestures or acts degrading the dignity of women ?

A) The Indian Penal Code, 1860 

B) The Kerala Police Act, 2011

C) Both A) and B)   

d) None of the above
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76. yLiLqeYf]p]¤ oãLqOU j]q}ƒ]¨OÐ]RsæÐV Nkf}ƒ]¨OÐ yLz\q|¾]¤ KqO Nñ}

pORa y~WLq| NkvQ¾]p]¤ J¡RÕaOÐ \]NfU WLeOWSpL kW¡¾OWSpL R\áOÐfV. 

fLRuÕrpOÐ WOã¾]jV fOs|oLeV

A) k]ÍOaqOW  B) l]x]UYV 

C) SvLpPr]yU  d) RRsUY]W Af]NWoU

77. 2011&Rs SWqt SkLs}yV BW›]R£ vWOÕOW¥ NkWLqU, SkLs}y]jV AvqORa  

\OofsW¥ j]¡vz]¨OÐ yop¾V Av¡ R\áOÐ JRfLqO Nkv¡¾jvOU 

DºL¨LjOU èÈ]¨LjOU Wu]pOU WPaLRf SkLs}yV jaka]pORa WQf|f S\Lh|U  

R\áRÕaOÐ JRfLqO jaka]p]sOU ________ SqXW¥ DkSpLY]¨LvOÐfLeV. 

A) KLc]SpL  B) v}c]SpL 

C) CsSNW›Le]WV RrS¨LcV  d) oOWt]sOçvRpLÐOosæ

78. fLRuÕrpOÐvp]¤ JfV yLz\q|¾]sLeV WLeLfLp KqLRt WRº¾L¢ Aa]pÍq 

SkLs}yV jaka] Bvw|oLp] vqOÐfV ?

A) v|©] AkWa¾]sLeV ARsæË]¤ j]poLjOyQf qƒLW¡fQf~¾]R£  

yUqƒe¾]ssæ

B) KqO v|©] AkWaWqoLp WOãWQf|¾]jV v]SipjLSp¨LU

C) SWLaf] NkX|Lk]\ÿ AvWLwU jaÕL¨OÐfV fapL¢ v|©] Kt]v]sLeV 

d) oOWt]sOçvRpsæLU 

79. 2011&Rs SWqt SkLs}yV BW›V NkWLqU KLSqL SkLs}yV SðxjOU NkShwR¾ NkShwvLy]

WRt WÚ|Pe]ã]pORa Nkf]j]i]WtLp] D¥RÕaO¾] WÚ|Pe]ã] SWL¦aLWVãV WÚ]ã]W¥ 

qPk}Wq]¨L¢ B¡¨LeV Ai]WLqU j¤W]p]q]¨OÐfV ?

A) Sðx¢ zTyV KLl}y¡  B) ^]sæL SkLs}yV SoiLv]

C) yUòLj SkLs}yV SoiLv] d) ^]sæL o^]SNy›ãV

80. JRfË]sOU RRsUY]W BUY|°StL Nñ}WtORa AÍô]Rj fLuV¾OÐ NkvQ¾]WStL 

R\áOÐf]jOç w]ƒ fLRuÕrpOÐ j]po°t]¤ JfLeV ?

A) CÍ| k}j¤ SWLcV, 1860 

B) SWqt SkLs}yV BW›V  2011

C) A) pOU B) pOU    

d) oOWt]sOçvRpLÐOosæ
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81. Choose the correct preposition :
He has great proficiency _______ English. 
A) on  B) in  C) of  d) at 

82. The manager discarded the needs of the workers. The synonym for discard is 
A) accept B) remind C) reject  D) immediate 

83. The orator impressed the audience by his gift of the gab. The idiom gift of the gab 
means
A) power of eloquence    B) smile  
C) facial expression    d) gifts given to audience 

84. Choose the correct verb :
The cattle _____ grazing in the meadow.
A) has B) is C) are d) have

85. The feminine noun of ‘‘nephew’’ in the sentence ‘‘My nephew got admission in  
Govt. College’’ is 
A) Niece  B) Heiress  C) mistress d) Nymph

86. The teacher said to the boy, ‘‘how old is your friend ?’’ The indirect speech of this 
sentence is
A) The teacher asked the boy how old is his friend. 
B) The teacher said to the boy how old his friend is.
C) The teacher asked the boy whether old his friend is.
d) The teacher asked the boy how old his friend was.

87. The old lady claimed that her ancestors were rich. The antonym of ‘‘ancestor’’ is  
A) descendents    B) forefathers 
C) predecessors    d) antecedent 

88. The passive voice of ‘‘Let him finish the work’’ is 
A) Finish the work    B) Please finish the work  
C) Let the work be finished by him D) Finish the work please

89. The one word for ‘‘a person who tries to gain peoples favour by insincerely flattering 
them and always agreeing with them’’ is
A) talisman   B) sporadic  
C) synopsis    d) sycophant 

90. Choose correct tense form :
I _________ poems since lunch. 
A) have been writing    B) write  
C) have writing    d) has write
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91. "AUYLqU' IÐ kh¾]jV SpL^]ˆ yoLjkhU JfV ?

A) k¡‹fU B) WOqOoOtWV C) AvpvU d) f}¨j¤

92. fLRuR¨LaO¾vp]¤ j]ÐOU Approved as proposed IÐf]jV SpL^]ˆ ospLt 
 kq]nLx RfqR´aO¨OW.

A) j]¡SÇw°¥ AUY}Wq]ˆO 
B) j]¡SÇw]ˆ NkWLqU AUY}Wq]ˆO 

C) AUY}Wq]ˆfOSkLRs j]¡SÇw]ˆO 
d) AUY}Wq]¨OWpOU j]¡SÇw]¨OWpOU R\pÅO

93. "DfVgLjU' – k]q]RˆuOfOW.

A) DfV + gLjU B) DhV + fLjU C) DfV + òLjU d) DhV + òLjU

94. "yUwpo]ŠL¾fV '  – IÐ¡ÀU vqOÐ khU JfV ?

A) AyÎ]YVÈU B) yÐ]YViU C) AyÐ]YViU d) AyÐ]YVhU

95. fLRuR¨LaO¾vp]¤ j]ÐOU wq]pLp vLW|U RfqR´aOR¾uOfOW.

A) AÍôOU Bn]^Lf|vOU yOÎq]pOU yo¡ÀpOoLp WgLjLp]W. 
B) f]qOvjÍkOq¾O qºOU W¹PqV oPÐOU BsÕOu AµO o]Š]o}ãrOU ou RkpÅO. 

C) vÐO S\¡Ð Bk¾OWRtŠLU jÓj]r´vqORa yzLp¾L¤ vtRq SvYU 

 j}°] ¨]Ÿ]. 
d) ySÚtj¾]¤ JWShwU Bp]qS¾LtU B¥ DºLp]qOÐO.

96. S\¡R¾uOfOW – f¢ + W¤

A) f°¤ B) f¢W¤ C) fsVW¤ d) fË¤

97. "WLeL¢ BNYz]¨OÐpL¥' – IÐf]R£ KãÕhU IuOfOW.

A) mOnOƒO B) h]hQƒO C) SNkƒW¢ d) SsL\j¢

98. "WOt]ˆ WavV or¨qOfV ' IÐ R\LŠ]jV SpL^]ˆ NkñLvj JfV ?

A) WOt]ˆ AjOnvU or¨qOfV   
B) ^}v]fU KqO WavLeV, AfV or¨qOfV

C) Wu]´ AjOnv°tOU NkvQ¾]WtOU or¨qOfV    
d) WOt]ˆ WavV KL¡Ú]¨OÐfV jŠfLeV

99. "SoLf]qU' IÐ kh¾]jV SpL^]ˆ kq|Lp°¥ JRfŠLU ?

A) AUYOs}pU, DT¡Ú]W  B) AUYOs], oPx]fU 

C) AUYOxVbU, WËeU   d) AUYOs}pU, WaWU

100. "òLvqU' IÐ kh¾]R£ If]¡khU IuOfOW.

A) AòLvqU B) Aò]qU C) ^UYqU d) ^UYoU
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Space for rough work
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S\Lh|°tORa BRW I¹U : 100 yopU : 90 o]j]ŸV 
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         DSh|LYL¡À]W¥¨Oç j]¡SÇw°¥

1. S\Lh|  WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV. a, B, c, d IÐ} jLsV Aƒq SWLcOWt]
sOç S\Lh| kOñW°tLeV j¤WOÐfV.

2. S\Lh| kOñW¾]R£ oOWt]¤ CafV vw¾V NkSf|W SWLt¾]¤ S\Lh|kOñW Aƒq SWLcV Aˆa]ˆ]
ŸOºV.

3. KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh|kOñW Aƒq SWLcV AvqORa kq}ƒL zLt]Rs Cq]Õ]
a¾]¤ SqXRÕaO¾]p]q]¨OU.

4. j]°¥¨jOvh]ˆ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU v|f|ñoLp SWLc]sOç S\Lh|kOñWoLeV 
sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa èÈp]¤RÕaOS¾ºfLeV.

5. S\Lh|kOñW NWojÒ¡ kOrU \ŸpORa vsfOvw¾V oOWtã¾Lp] S\¡¾]ŸOºV. NWojÒ¡ CŠL¾  
S\Lh|kOñWoLeV j]°¥¨V sn]¨OÐRfË]¤ ASf Aƒq SWLc]sOç S\Lh|kOñWU oLã] 
vL°OW.

6. S\Lh| kOñWU vsfO oL¡^]j]¤ oÈ|nLY¾Lp] y}¤ R\pÅ]q]¨OU. D¾qRouOfLjOç AjOof]   
sn]ˆLsŠLRf S\Lh| kOñWU fOr¨L¢ kLa]Š.

7. kq}ƒ fOa°]pLsOa¢ DSh|LYL¡À] fj]¨V sn]ˆ]q]¨OÐ S\Lh| kOñW¾]¤ 100  S\Lh|°tOU 
NWooLp] DSºL IÐV kq]SwLi]S¨ºfLeV. S\Lh| kOñW¾]¤ Aˆa]̈ L¾SfL, W}r]pSfL, v]ŸOSkLpSfL 
Bp Sk^OW¥ DºLW]Š; AgvL DRºË]¤ A¨Lq|U C¢v]^]SsãrORa èÈp]¤ RWLºOvq]WpOU 
ASf Aƒq SWLc]sOç kP¡¹oLp S\Lh| kOñWU oLã] vL°OWpOU R\SáºfLeV. CfV JãvOU 
NkiLjRÕŸfLeV.

8. CT S\Lh|SkÕr]Rs 1 oOf¤ 80 vRqpOç S\Lh|°¥ CUYæ}x]sOU KTSh|LY]W nLxp]sOU (ospLtU)
Bp] A\ÿa]\ÿ]q]¨OÐO. CT S\Lh|°tORa A¡ÀU, f¡²o IÐ]v yUmÌ]\ÿ yUwp°¥ V̈ CUYæ}xV 
oLi|o¾]sOç S\Lh|°tLeV BiLqoL¨OÐfV.

9. S\Lh| kOñW¾]R£ AvyLj Sk^]jO RfLŸOoO¢kV KÐOU IuOfL¾ qºV Sk^OW¥ S\¡¾]ŸOºV. 
CfV D¾qU WºOk]a]¨OÐf]jOç  WOr]ÕOW¥¨Lp] DkSpLY]¨LvOÐfLeV.

10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 
èÈLkP¡‹U vLp]¨OW.

11. wq]pO¾qU D¥RÕRa KLSqL S\Lh|¾]jOU (A), (B), (C), (D) IÐ jLsV D¾q°¥ fÐ]q]¨OU. wq]
pO¾qU RfqR´aO¾V K. IU. B¡. D¾q¨asLy]¤ mÌRÕŸ S\Lh| jÒr]jV SjRqpOç wq]
pO¾qU yP\]Õ]¨OÐ WOo]t (mm]¥) oLNfU j}sSpL WrOSÕL mL¥ SkLp]£V Skj DkSpLY]ˆV 
WrOÕ]¨OW.

12. KLSqL wq]pO¾q¾]jOU KqO oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU 1/3 oL¡¨V jìoLvOWpOU 
R\áOU. D¾qU SqXRÕaO¾L¾ S\Lh|°¥¨V oL¡¨V jìoLvOWp]Š.

13. kq}ƒL yopU Wu]pOÐf]jV oOSÒL, D¾q¨asLyV C¢v]^]SsãRr J¤Õ]¨LRfSpL KqO DSh|LYL¡À]
pOU kq}ƒLzL¥ v]ŸV kOr¾OSkLWL¢ kLa]Š.

14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒp]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU 
ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp] NkX|Lk]¨OÐfLeV.
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